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1R/ mE-YDHFE| A/m 0.173 0.157
ORRAH|  t - 24.7 25.8

H s 2 B2 = 9 Mt
B - B —cUN
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T HFihBRRRET
g Al g £ -/ E 8 =
AS)—BBTE EH#BRX) RyoRhIL/N—RERE
BB ¢ 1000mm 1IREYHBE@EIR 0.785 m?
N
15 T A% = 440 44.0
m
24THRR = 8.760 8.760
m
440 x 876 = 385440 | 38544
m
IR = 5.800 5.800
m
440 x 580 = 255200 | 25520
AFTHRETE m
440 x 876 x 0.785 = 302570 | 30257
54T & m
440 x 580 x 0.785 = 200332 | 200.33
m
6.WBR = 2.960 2.960
1.HRTE m
440 x 296 x 0.785 = 102238 | 10224
SHHEERE m
AINE 220 kg/m’®
mr 3 10 %
10224 x 022 = 22.49
22.490/2.960/440 =1AR/mYf-Unit 0.173
2249 x 010 = 2.25 t
24.74 24.7
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T HFihBRRRET
g Al g £ -/ E H =
AT —BTE (HE=X) 7o h— L &
BB ¢ 1000mm 1IREYHBE®EIR 0.785 m?
15 T A% = 58.0 58.0
24THRR = 8.690 8.690
580 X 8.69 = 504020 | 504.02
IR = 6.110 6.110
580 x 6.1 = 354380 | 35438
AFTHRETE
580 x 869 x 0.785 = 395656 | 395.66
54T &
580 x 611 x 0.785 = 278188 | 278.19
6.WBR = 2.580 2.580
1.HRTE
580 x 258 x 0.785 = 117467 | 11747
8. ¥l
AINE 200 kg/m’®
mr 3 10 %
11747 x 020 = 23.49
23.490/2.580/58.0 =1A&/mYf-Unit 0.157
2349 x 0.0 = 2.35
25.84 25.8
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RER (FEh BB R TIRAETAL 1)

B2
2|5 & = T B ?rﬁ
at maang?ma ﬂ*ﬁ&ﬂg?[mﬂ mﬁ&ug?[ma
ZEEANL—F AR
L m - 6.800 6.800 6.800
" BEt m - 5610 5.610 5610
HIFLE
Wt m - - - -
& m - 12.410 12.410 12.410
L (BN ~mii) m’ - 12.713 3.128 3.679
#tE L (R ~#o1) m - - - -
BEL @B ~H1) m* - 11.701 19.703 3.166
HELE | BEL(Pl~#ot) | o - - - -
BT (PHL~f) m’ - - - -
Mt (P ~Hor) m - - - -
# it m’ - 24.414 22.831 6.845
Bh = THYE
# m - 1.560 8.760 5.600
| L B FLASE * - 30 7.0 20
4.
N _
g X /8 ‘ —
32T ETHIF|31-2TETHEIFE
B I
T 7
BER(EMBRRT(REIAL 2)
B2
I i) -
| B & [ B i i
A x%ﬁ%ﬂg?mﬂ %*ﬁ%ﬂ%iﬁ[aﬂﬂ
—EEANL—F AR
L m - 6.800 6.800
" BHEt m - 5.540 5.540
HIFLE
3 = m - - -
it m - 12.340 12.340
#tEL (BB ~ehfir) m* - 15.572 15.901
#tE L (R ~#o1) m’ - - _
BB (DL ~hfi) m - 14.331 19.973
HELE | BEL(Pl~#or) | o - - -
BB+ (DDLU~ i) m - - -
Mt (P ~Hor) m - - -
# = 5t m - 29.903 35.874
B | S THYE m - 1.490 3.654
#h | ¢ BIFLA S * - 3.0 50
i | - N */8 -
4 é 32T HTHIH|31-2THTHTH 32T HTHIH|31-2THETHTH
B |3
I 4
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RiER(@EhBEURTIRAEEA]L 3)

=4

Jeln

% L B

HeedREEn

ERHER(HEB)
—EEANL—F AR
L m - 6.300
w BHEL m - 2.390
HIFLE DL . - -
it m - 8.690
#tEL (BB ~ehfi) m* - 145.744
FhtE L (R ~#o1) m - -
BEL B ~rhfi) m - -
HELE | WEL (PR~ [ m - -
HME L (DL ~hf) m - -
HE + (PRI ~#or) m - -
it m* - 145.744
THYR m - 6.110
HIFLAS £ - 57.0
N #/H -
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10

EREIAL
e g A - /N E 8 =
BEIAI(CEERL—FEHER) RIBEHE (SR R®)
1LHIAE
EE EE L | BEL | WELE wEt 5610 m
1 0.410 0.410
2 1.150 1.150 L 6.800 m
3 1.800 1.800
4 2.050 2.050 Y m
5 3.350 3.350
6 3.150 3.150
7 0.500 0.500
gt 12.410 6.800 5.610 -
2RI E 1.500 % 1.500 = 2.250 m?
FhEE W BN~ i | chifii ~ 7=
EEE EBE NELTE 0~4 4~8
3 1.800 4.050 © 12713 m®
5 3.350 7.538 ©)
7 0.500 1.125 ©
H 5.650 12.713
wEL BN~ thfir| et ~#io7=
EBE NELTE 0~30 | 30LLE
2.050 4613 © 11.701 m®
3.150 7.088 ©
5.200 11.701
T W BN~ chfii| i ~ o7
= EBE NELTE 10~50 | 50LLk
.000 0.000
0.000 0.000
AR 10.850 m
XHYE 12.410 — 10.850 1.560 m
1RY4Y
4EITARE 30 &

10




1

BIEH
RIEEHE(HBD) ERIAL - —E54E4
1. ZTEERAN—FIEIAREYEITER(Ts)
T A 2 v B (T)
Al 7L B R (T,
7 A B (Ts)
TRERD 5| =4k = AR (T,
it T (min)
1) B A E R R R (T)
HE RFRE (57D
S B
BRI (T
EARDBERE
2) Al FLEFRE (T,)
T,= (7%l
2z, 7 EEEOH|FLOBEALEERFRE (min/m)
lo: EEBOHEIFLE (m)
= b pg wEL L it
BE ST A (93 /m) 8 5 4 —
BIE (m) 0.000 5.610 6.800 12.410
R
T,= min/Zx
3) JEABFRE(T,)
GEAR(GRBRBER)
T8 L mEL | Mt
fl g 32 0 (%) 70 45 40
FIEFR a (%) 40 90 90
EAZE A (%) 28 40.5 36
GEAMPMERE
= FhELT mEL | Mgt i
HEITE | vim3) 12.713 11.701 .000
EAZE A (%) 28 40.5
FAE V() 3,560 4,739 8,299
S Vv, () 1,780 1,354 3,134
fRHE V,(I) 1,780 3,385 5,165
EALLE 1:1 1:2.5
FEARE n= 30 K
1ARYYEA= (RS Qs=2Q/n= 3,134 /
= 1045 L/AK
1RYYEAE (BBR) Qs=XQ/n= 5,165 /
= 1,722 /A

A




12

T3=Qs/qgs

ZZIz. Qs: ZEBRAMN—FITHEIRYYEAZE()
gs: BEAEFREYFEAZ (/min)

BuEERFRZYIAS (as)
qs 1R
518
T,= / = min/ A
4) T HEERD 5| EHREFME (T,)

T4=7,%X1,

bt it 7, THYERSIERE D B AL ERRE (min/m)
l,: THRYE (m)
T,= X = min/ A

Y54 O B ERER (7 )
| v, | |

5) 1A HY D5 TR (Ty)
Ts=T+T,#T5+T,
Ts= + + + - min
2THDETE

1) _EEAN—FIEIBRYET AL

N= 60 X H X 2(4) _ 60 X < 2
Ts
= (&/8)
N: 2ty BEYETAREK(X/B)
H ZEETLEAXRBEOIBHYEEXRRET BREET 5.
Ts: 1R ZH Y5 TEFE(min)
2) BT H#
BIAK= ——— = —— = (&

n: T TARE(K)
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14

EREIAL
e g A - /N E 8 =
BEIAI(CEERL—FEHER) RIBEHE (SR R®B)
1LHIAE
EE EE L | BEL | WELE wEt 5610 m
1 0.410 0.410
2 1.150 1.150 L 6.800 m
3 1.800 1.800
4 2.050 2.050 Y m
5 3.350 3.350
6 3.150 3.150
7 0.500 0.500
gt 12.410 6.800 5.610 -
2RI E 1.500 % 4.170 = 6.255 m?
FhEE W BN~ i | chifii ~ 7=
BIE HELE 0~4 4~8
0.500 3.128 3.128 m?®
0.000
0.000
0.500 3.128
BmEL BN~ thfir| et ~#io7=
EBE NELTE 0~30 | 30LLE
3.150 19.703 © 19.703 m®
0.000
3.150 19.703
T W BN~ chfii| i ~ o7
= EBE NELTE 10~50 | 50LLk
.000 0.000 m®
0.000 0.000
FAE 3.650 m
XHYE 12.410 — 3.650 8.760 m
1RY4Y
4EITARE 70 &

14




15

BIEH
RIEEHE(HBEO) ERIAL - —E54E4
1. ZTEERAN—FIEIAREYEITER(Ts)
T A 2 v B (T)
Al 7L B R (T,
AR (Ts)
TRERD 5| =4k = AR (T,
it T (min)
1) B A E R R R (T)
HE RFRE (57D
S B
BRI (T
EARDBERE
2) Al FLEFRE (T,)
T,= (7%l
2z, 7 EEEOH|FLOBEALEERFRE (min/m)
lo: EEBOHEIFLE (m)
= b pg wEL L it
BE ST A (93 /m) 8 5 4 —
BIE (m) 0.000 5.610 6.800 12.410
R
T,= min/Zx
3) JEABFRE(T,)
GEAR(GRBRBER)
T8 L mEL | Mt
fl g 32 0 (%) 70 45 40
FIEFR a (%) 40 90 90
EAZE A (%) 28 40.5 36
GEAMPMERE
= FhELT mEL | Mgt i
MEEt=E | vim3) 3.128 19.703 .000
EAZE A (%) 28 40.5
FAE V() 876 7,980 8,856
[ \YA()) 438 2,280 2,718
fRaE V, (1) 438 5,700 6,138
EALLE 1:1 1:2.5
FEARE n= 70 K
1ARYYEA= (RS Qs=2Q/n= 2,718 /
= 388 L/&
1RYYEAE (BBR) Qs=2Q/n= 6,138 /
= 877 L/&

15




16

T3=Qs/qgs

ZZIz. Qs: ZEBRAMN—FITHEIRYYEAZE()
gs: BEAEFREYFEAZ (/min)

BuEERFRZYIAS (as)
qs 1R
518
T,= / = min/ A
4) T HEERD 5| EHREFME (T,)

T4=7,%X1,

bt it 7, THYERSIERE D B AL ERRE (min/m)
l,: THRYE (m)
T,= X = min/ A

Y54 O B ERER (7 )
| v, | |

5) 1A HY D5 TR (Ty)
Ts=T+T,#T5+T,
Ts= + + + - min
2THDETE

1) _EEAN—FIEIBRYET AL

N= 60 X H X 2(4) _ 60 X < 2
Ts
= (&/8)
N: 2ty BEYETAREK(X/B)
H ZEETLEAXRBEOIBHYEEXRRET BREET 5.
Ts: 1R ZH Y5 TEFE(min)
2) BT H#
BIAK= ——— = —I1— = (@

n: T TARE(K)

16
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18

EREIAL
e g A - /N E 8 =
BEIAI(CEERL—FEHER) RIBEHE(HR®)
1LHIAE
EBEES EE L | BEL | WELE wEt = 5610 m
1 0.410 0.410
2 1.150 1.150 L = 6.800 m
3 1.800 1.800
4 2.050 2.050 Y = m
5 3.350 3.350
6 3.150 3.150
7 0.500 0.500
gt 12.410 6.800 5.610 -
2RI E 1.500 X 0.670 = 1.005 1.005 m?
FhEE W BN~ i | chifii ~ 7=
EEE EBE NELTE 0~4 4~8
5 3.160 3.176 © 3.679 m®
0.500 0.503 ©
0.000
i 3.660 3.679
wEL BN~ thfir| et ~#io7=
EBEE EBE NELTE 0~30 | 30LLE
6 3.150 3.166 © 3.166 m®
0.000
E 3.150 3.166
T W BN~ chfii| i ~ o7
EES EE NELTE 10~50 | 50LLk
.000 0.000 m®
£ 0.000 0.000
AR 6.810 m
XHYE 12.410 — 6.810 = 5.600 m
1RY4Y
AFETARE = 20 X

18



19

BIEH
RIEEHE(HBO) ERIAL - —E54E4
1. ZTEERAN—FIEIAREYEITER(Ts)
T A 2 v B (T)
Al 7L B R (T,
AR (Ts)
THE DS ERERR (T,
it T (min)
1) B A E R R R (T)
HE RFRE (57D
S B
BRI (T
EARDBERE
2) Al FLEFRE (T,)
T,= (7%l
2z, 7 EEEOH|FLOBEALEERFRE (min/m)
lo: EEBOHEIFLE (m)
= b pg wEL L it
BE ST A (93 /m) 8 5 4 —
BIE (m) 0.000 5.610 6.800 12.410
R
T,= min/Zx
3) JEABFRE(T,)
GEAR(GRBRBER)
T8 L mEL | Mt
fl g 32 0 (%) 70 45 40
FIEFR a (%) 40 90 90
EAZE A (%) 28 40.5 36
GEAMPMERE
= FhELT mEL | Mgt i
MEEt=E | vim3) 3.679 3.166 .000
SEAE A (%) 28 40.5
FAE V(1) 1,030 1,282 2,312
S Vv, () 515 366 881
fRHE V,(I) 515 916 1,431
EALLE 1:1 1:2.5
FEAXRE  n= 20 K
1ARYYEA= (RS Qs=2Q/n= 881 /
= 441 L/K
1RYYEAE (BBR) Qs=XQ/n= 1,431 /
= 716 L/A&

19




80

T3=Qs/qgs

ZZIz. Qs: ZEBRAMN—FITHEIRYYEAZE()
gs: BEAEFREYFEAZ (/min)

BuEERFRZYIAS (as)
qs 1R
518
T,= / = min/ A
4) T HEERD 5| EHREFME (T,)

T4=7,%X1,

bt it 7, THYERSIERE D B AL ERRE (min/m)
l,: THRYE (m)
T,= X = min/ A

Y54 O B ERER (7 )
| v, | |

5) 1A HY D5 TR (Ty)
Ts=T+T,#T5+T,
Ts= + + + - min
2THDETE

1) _EEAN—FIEIBRYET AL

N= 60 X H X 2(4) _ 60 X < 2
Ts
= (&/8)
N: 2ty BEYETAREK(X/B)
H ZEETLEAXRBEOIBHYEEXRRET BREET 5.
Ts: 1R ZH Y5 TEFE(min)
2) BT H#
BIAK= ——— = —2— = (&

n: T TARE(K)

80



EBIAL

81

2l

N

anf
—+

¥
il

REEIAL(ZEFAMN—F#EER)

O—0O wEX

+ B2 R $83358
622
tw§%§§30ﬁ§&§smls 2813
- 60m s
| 3.3 1= 9|
vsi 151 | (m | BOE| 1RED 3{
g NI NT_ | 0.50 S =
g . = | &
TN | 115 [ = | H
4 | &
= )
¥s2 TS1
3|
&
NI TN
o
g g
o & = T
= ]
g | o
b
¥s2 Ts1 ©
3|
&
N2 TN
1]
| 1745 |
¥s2 Ts1 Sk B1E18037 02k B 185566
X B 17403

Vv-3.900
i(%‘k?é%ﬂﬂ‘kﬁ

81




82

EREIAL
e g A - /N E 8 =
BEIAI(CEERL—FEHER) RIBEHE (B RO)
1LHIAE
EBEES EE L | BEL | WELE wEt = 5.540 m
1 0.340 0.340
2 1.150 1.150 L = 6.800 m
3 1.800 1.800
4 2.050 2.050 Y = m
5 3.350 3.350
6 3.150 3.150
7 0.500 0.500
gt 12.340 6.800 5.540 -
20ELE 1500 x 1.837 = 2.756 m?
FhEE W BN~ i | chifii ~ 7=
EBEE EBE NELTE 0~4 4~8
3 1.800 4,961 © 15572 m®
5 3.350 9.233 ©)
7 0.500 1.378
H 5.650 15.572
wEL BN~ thfir| et ~#io7=
EBE NELTE 0~30 | 30LLE
2.050 5.650 © 14331 m®
3.150 8.681 ©
5.200 14.331
T W BN~ chfii| i ~ o7
= EBE NELTE 10~50 | 50LLk
.000
0.000 0.000
AR 10.850 m
XHYE 12.340 — 10.850 1.490 m
1RY4Y
4EITARE 30 &

82
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BIEH
RIEEHE(HBO) ERIAL - —E54E4
1. ZTEERAN—FIEIAREYEITER(Ts)
T A 2 v B (T)
Al 7L B R (T,
7 A B (Ts)
TRERD 5| =4k = AR (T,
it T (min)
1) B A E R R R (T)
HE RFRE (57D
S B
BRI (T
EARDBERE
2) Al FLEFRE (T,)
T,= (7%l
2z, 7 EEEOH|FLOBEALEERFRE (min/m)
lo: EEBOHEIFLE (m)
= b pg wEL L it
BE ST A (93 /m) 8 5 4 —
BIE (m) 0.000 5.540 6.800 12.340
R
T,= min/Zx
3) JEABFRE(T,)
GEAR(GRBRBER)
T8 L mEL | Mt
fl g 32 0 (%) 70 45 40
FIEFR a (%) 40 90 90
EAZE A (%) 28 40.5 36
GEAMPMERE
= FhELT mEL | Mgt i
HEITE | vim3) 15.572 14.331 .000
EAZE A (%) 28 40.5
FAE V(1) 4,360 5,804 10,164
[ \YA()) 2,180 1,658 3,838
fRaE V, (1) 2,180 4,146 6,326
EALLE 1:1 1:2.5
FEARE n= 30 K
1ARYYEA= (RS Qs=2Q/n= 3,838 /
= 1279 L/AK
1RYYEAE (BBR) Qs=2Q/n= 6,326 /
= 2109 L/&
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T3=Qs/qgs

ZZIz. Qs: ZEBRAMN—FITHEIRYYEAZE()
gs: BEAEFREYFEAZ (/min)

BuEERFRZYIAS (as)
qs 1R
518
T,= / = min/ A
4) T HEERD 5| EHREFME (T,)

T4=7,%X1,

bt it 7, THYERSIERE D B AL ERRE (min/m)
l,: THRYE (m)
T,= X = min/ A

Y54 O B ERER (7 )
| v, | |

5) 1A HY D5 TR (Ty)
Ts=T+T,#T5+T,
Ts= + + + - min
2THDETE

1) _EEAN—FIEIBRYET AL

N= 60 X H X 2(4) _ 60 X < 2
Ts
= (&/8)
N: 2ty BEYETAREK(X/B)
H ZEETLEAXRBEOIBHYEEXRRET BREET 5.
Ts: 1R ZH Y5 TEFE(min)
2) BT H#
BIAK= ——— = —— = (&

n: T TARE(K)
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